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Chapter 6 — Sinusoidal Functions

6.5 — Sketching Sinusoidal Functions

By this point in your illustrious High School careers, you have a solid understanding of
Transformations of Functions in general. In terms of the sinusoidal functions Sine and Cosine in
particular, the concepts are as you expect, but the transformations have specific meanings
relating to nature of the sinusoidal “wave”.

General Form of the Sine and Cosine Functions
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f(0)=asin(k(@—d))+c g(0)=acos(k(@—d))+c
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Example 6.5.1 -1
Determine the amplitude, period, phase shift and the equation (?Lf the central axis for:
L= 1 ks
/ J
a) f () =2sin(6+60")+1 b) g () =3cos(20-90°)
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Example 6.5.2 ﬁ : —
Sketcl f (x)=sin (k) and g (x)=sin(2x) for 0" <x <360" on the same set of axes. Zfﬂ}
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Notes about Domain and Range: Consider the function f (x)=-2 cos@x+90°)+3.

Determine all the transformations for this function. Without graphing, determine the range of the
function. Determine the domain of the function for: 1 cycle; 2 cycles; 3 cycles.

. 35 o= % ford
7((70 Z@(i(x—f a))+5 ch 3 05 . 37 /@}

| _ ) - ,% {xc—fft
ﬁﬁ { P’\}C/ﬂ‘ | Lx) * ) %ww 11%6@ %MUL

}(99 3{,0

98

200 120"
B

QL Al i?.oo}

ok *= 2,‘?9""}

oyl JL?Leﬂl\of:%- ¢ %oj



Example 6.5.3 le !
Sketch f (0) =32 cos(@ —60°)+1 on 0° <0 <360° . State transformations, and the
(To 74_ w\ ] #U
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. domain and range of the function.
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Example 6.5.4 ‘/ CA~moy = (4 v ok
Sketch f (0) =3sin (20)—1 . State transformations, and the domain and range of the

2 function over two cycles.




